Broadcast Electronics Inc.

4100 North 24™ Street, Quincy, lllinois 62305 USA * Phone (217) 224-9600 * Fax (217) 224-9607 * www.bdcast.com ¢ bdcast@bdcast.com

4MX Series Transmitters
AC Power Supply Filter Capacitor Upgrade
Application Guide

597-0415, Revision B
10/2/08



4MX Series Transmitters

AC Power Supply Filter Capacitor Upgrade
Application Guide

©2008 Broadcast Electronics Inc. All rights reserved.

The information in this publication is subject to improvement and change without notice. Although
every effort is made to ensure the accuracy of the information in this manual, Broadcast Electronics
Inc. accepts no responsibility for any errors or omissions. Broadcast Electronics Inc. reserves the right
to modify and improve the design and specifications of the equipment in this manual without notice.
Any modifications shall not adversely affect performance of the equipment so modified.

Proprietary Notice

This document contains proprietary data of Broadcast Electronics Inc. No part of this publication may
be reproduced, transmitted, transcribed, stored in a retrieval system, translated into any other
language in any form or by any means, electronic or mechanical, including photocopying or
recording, for any purpose, without the express written permission of Broadcast Electronics Inc.

Trademarks
Broadcast Electronics and the BE logo are registered trademarks of Broadcast Electronics Inc.

All other trademarks are property of their respective owners.



Table of Contents

1  Upgrade Preparation ... 1
1.1 Overview / Estimated Completion Time For Upgrade .........cccccvvviiiiiininnn, 1
1.2 Items/ Tools required for the Upgrade Process..............ccoovuvvviiiiiiiiieinnnn, 1

2 Upgrading the 4MX AC Power Supply Capacitors ........cccccceivirienncinnenne. 1
2.1 Install Capacitor Brackets and Hardware onto Mounting Plate.................. 1
2.2 Install Rubber Bumper ... 2
2.3 Install Caps and Wire Harness (230VAC System) .........ccoooviiiiiiiiiiiieaeene. 2
2.4 Install Caps and Wire Harness (400VAC System) .......cccovvvvviiiieeeeeiiiiiinnne 3
2.5  Remove Capacitors from Brackets (Leave Wiring Installed on Caps)............ 3
2.6 Turn the 4MX 50 AC Breaker to OFF and Remove Lower Rear Door .......... 4
2.7  Remove Kepnuts in 4MX Cabinet then Install Cap Mounting Plate............. 4
2.8  Re-Install Caps into Brackets.........ccoooiiiiiiiii 5
2.9  Caps Re-installed into Brackets.........ccoooiiiiiiiiiiiii e 6
2.10 Connect Capacitor Wire Harness Leads to AC Distribution Blocks.............. 7
2.11 Install Lower Rear Door and Turn the 4MX 50 AC Breaker to ON .............. 7
2.12  Verify that the Transmitter is Operating Properly ........cccoovoiiiiiiiin 7

3 RF Technical Services Contact Information .............oooriiiiiiiiiiinnnnnn. 8

4 Wiring Diagram..........ocoeueiiiiiieee e e s e e e e e e e s 8

©2008 Broadcast Electronics Inc.




1 Upgrade Preparation

1.1 Overview / Estimated Completion Time For Upgrade

B.E. Field Upgrade Kit (977-0415) contains the necessary items to upgrade a 4MX 25,
a 4MX 50, or a 4MX 100 AC Power Supply with Filter Capacitors.

Providing that you have the tools and items listed below, it will take approximately 30-45
minutes to complete the Upgrade.

1.2 Items/ Tools required for the Upgrade Process

1/4" Nut Driver

5/16" Nut Driver

3/8" Nut Driver

No. 2 Phillips Screwdriver

Medium Flat Blade Screwdriver

977-0415 Kit, Field Upgrade, 4MX AC Power Supply

949-6002, (Qty 1) Harness, AC Filter Caps, 4MX 25/50/100
047-5063-370, (Qty 3) Capacitor, 50uF, 370VAC, Motor Run
453-0008, (Qty 3) Bracket, Capacitor Mounting, VR8
421-4008, (Qty 9) Kepnut, 4-40

420-6112, (Qty 3) Screw, 6-32 x .75

421-6008, (Qty 3) Kepnut, 6-32

471-5799, (Qty 1) Plate, Capacitor Mounting

510-286, (Qty 1) Bumper, Rubber, Adhesive Back

597-0415, (Qty 1) Application Guide, Field Upgrade, 4MX AC Power Supply

OO0

I

2 Upgrading the 4MX AC Power Supply Capacitors

2.1 Install Capacitor Brackets and Hardware onto Mounting Plate

MOUNTING PLATE
471-5799

ORIENT CAPACITOR BRACKETS
(QTY 3) AS SHOWN AND

INSTALL ONTO MOUNTING
PLATE USING (QTY 9) 4-40
KEPNUTS

LOOSELY INSTALL 6-32 SCREWS (QTY 3) AND
KEPNUTS (QTY 3) IN BRACKET CLAMPS AS SHOWN.
NOTE KEPNUT ORIENTATION.

ol

Figure 1 - Install Cap Brackets and Hardware on Mbunting Plate

©2008 Broadcast Electronics Inc. E\




2.2 Install Rubber Bumper

INSTALL RUBBER BUMPER ON THE BOTTOM SIDE OF
CAPACITOR MOUNTING PLATE AS SHOWN.

Figure 2 - Field Upgrade, 4MX AC Power Supply

2.3 Install Caps and Wire Harness (230VAC System)

INSTALL CAPS AND WIRE HARNESS AS SHOWN.
DO NOT TIGHTEN CLAMP HARDWARE YET!

NOTE: WIRE #403 IS NOT USED IN A 230VAC SYSTEM!

Figure 3 — 230VAC System

I ©2008 Broadcast Electronics Inc.
| ==
I s E



2.4 Install Caps and Wire Harness (400VAC System)

INSTALL CAPS AND WIRE HARNESS AS SHOWN.
DO NOT TIGHTEN CLAMP HARDWARE YET!

NOTE: WIRE #402 1S NOT USED IN A 400VAC SYSTEM!

Figure 4 — 400VAC System

2.5 Remove Capacitors from Brackets (Leave Wiring Installed on Caps)

Figure 5 - Remove Caps

©2008 Broadcast Electronics Inc. E\




2.6 Turn the 4MX 50 AC Breaker to OFF and Remove Lower Rear Door

Turn the AC
Breaker to the
OFF position

Figure 6 — Turn 4MX AC Breaker to OFF

2.7 Remove Kepnuts in 4MX Cabinet then Install Cap Mounting Plate

e P W

A
Vg

USING A 3/8” NUTDRIVER, CAREFULLY REMOVE (QTY 3) 10-32 KEPNUTS,
INSTALL CAP MOUNTING PLATE AS SHOWN, THEN REINSTALL 10-32 KEPNUTS.

-

Figure 7 - Install Cap Mounting Plate into 4MX

E\ ©2008 Broadcast Electronics Inc.



2.8 Re-Install Caps into Brackets

Figure 8 — Install Capacitors

< PROCEED TO NEXT PAGE>

©2008 Broadcast Electronics Inc. E\




2.9 Caps Re-installed into Brackets

Figure 9 — Capacitors Installed

< PROCEED TO NEXT PAGE>

E\ ©2008 Broadcast Electronics Inc.



2.10 Connect Capacitor Wire Harness Leads to AC Distribution Blocks

e .- L a1
] ; = £ E \Y.
_} = e k2%

USING A MEDIUM FLAT BLADE SCREW DRIVER INSTALL THE WIRES INTO THE AC
DISTRIBUTION TERMINAL BLOCKS AS SHOWN ABOVE.

ENSURE ALL CONNECTIONS ARE TIGHTENED PROPERLY.

NOTE: WIRE #403 IS ONLY USED ON A 400VAC SYSTEM!
- | ') T > I . all - —

Figure 10 — Connect Capacitor Wire Harness Leads to AC Distribution Terminal Blocks

2.11 Install Lower Rear Door and Turn the 4MX 50 AC Breaker to ON

Turn the AC
Breaker to the
ON position

Figure 11 — Turn 4MX AC Breaker to ON

2.12 Verify that the Transmitter is Operating Properly

©2008 Broadcast Electronics Inc. E\




3 RF Technical Services Contact Information
RF Technical Services -

Telephone: (217) 224-9617
E-Mail: rfservice@bdcast.com
Fax: (217) 224-6258

4 Wiring Diagram

E0¥]
£8]]
V8]
£8I]
88]]

m s b
B | 1 8} 2 8} 3 8} 4
e o @ e & ® ®@ ©& @
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1
‘ ZHEEE  gEEEE  EHEEA Ao
! BlElElElE ElEEEE EIEIEIEE
I
L
I
I
T
I
‘
I
=] =] N I
g g g
I
|
I
_1_Clo 1l c1i |
S0uF ﬁ SouF ﬁ SouF 1
T = T 5 !
I
I
I
I
) |
g ‘
I
A = 230V CONFIGURATION !
(DO NOT USE WIRE #403 J‘
e A
- - =
= = =
g

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, d ® ®
mmmmmmmmmmmmmmmmmm
##################
mmmmmmmmmmmmmmmm
POVER SUPPLY MTHRBD POVER SUPPLY HTHRBD
AC POVER SUPPLY SOuF CAPACITOR CONFIGURATIONS 917-0417, LOWER LEFT 917-0417, LOWER RIGHT

Figure 12 — Wiring Diagram

©2008 Broadcast Electronics Inc.




	4MX AC Power Supply Cap Upgrade Application Guide, 597-0415 Rev B - Title test 7.pdf
	AC Power Supply Filter Capacitor Upgrade
	Application Guide
	597-0415, Revision B
	10/2/08

	AC Power Supply Filter Capacitor Upgrade
	Application Guide
	Proprietary Notice
	Trademarks


	4MX AC Power Supply Cap Upgrade Application Guide, 597-0415 Rev B - Body test 7
	1 Upgrade Preparation
	1.1 Overview / Estimated Completion Time For Upgrade
	1.2 Items / Tools required for the Upgrade Process
	       047-5063-370, (Qty 3)  Capacitor, 50uF, 370VAC, Motor Run
	       421-4008, (Qty 9)  Kepnut, 4-40
	       421-6008, (Qty 3)  Kepnut, 6-32
	       510-286, (Qty 1) Bumper, Rubber, Adhesive Back

	2 Upgrading the 4MX AC Power Supply Capacitors
	2.1 Install Capacitor Brackets and Hardware onto Mounting Plate
	2.2 Install Rubber Bumper
	2.3 Install Caps and Wire Harness (230VAC System)
	2.4 Install Caps and Wire Harness (400VAC System)
	2.5 Remove Capacitors from Brackets (Leave Wiring Installed on Caps)
	2.6 Turn the 4MX 50 AC Breaker to OFF and Remove Lower Rear Door
	2.7 Remove Kepnuts in 4MX Cabinet then Install Cap Mounting Plate
	2.8 Re-Install Caps into Brackets
	2.9 Caps Re-installed into Brackets
	2.10 Connect Capacitor Wire Harness Leads to AC Distribution Blocks
	2.11  Install Lower Rear Door and Turn the 4MX 50 AC Breaker to ON
	2.12  Verify that the Transmitter is Operating Properly

	3   RF Technical Services Contact Information
	4 Wiring Diagram




